-3y=3 6
aggga g 5"” o] 7k AR x = 3y 4 8-S
xX=y-

WAL o, m o gh2?

»

23 16 10
®—§ ®_§ ®_§ @ -

W | N
©
Lo | Ot



o7t 2x+y=92 L wfl, 5 a

®

®
N

©)



s

112

3|7} 4x - 3y

9

ax+4y=a+5

F?

|

23

a °]

@ 6 ® 9

® 2



x+2y =17 9 & %



5.

o =
)
x 37k AA5A o, e

0% B bl A8

@ (1, 8), (8, 1)
® (1, 8), (3, 5), (8, 1)
® (1, 8), (5, 2), (8, 1)

L =
3x + 2y = 19 & W=5h= o

ﬂll

@ (3, 5), (5, 2)
@ (1, 8), (3, 5), (5, 2)

2~

jLE

A

&



6. x y7h R AQRD ), ARPPHA x4 3y = 15 & VESHE
B 9 A7k

@D 17 @ 271 ® 374 @ 4 71 ® 57}

U
)

rr



re

o

r
ol
o

0.4x - 0.5y =10

X .y
Z+< =1
2+3

® -10 B 4

o7t x=a,y=bd ™, a+b



B
o
el
ﬂ_m_o
mo
il
Bl
ol

+iy=2

X — =

5)’

0.2x— 0.1y = 1.2

1

[

@ x=2y=-8

® x=-3,y=15

@ x=6,y=0

® x=4, y=-4

® x=8,y=4



& B9

7
2

y:

1
Sy
4

0.1x = 0.2y + 0.7
3

{



0.3x— 0.4y = 0.4
0.2x+ 0.3y = 1.4

WES ), 49 e FohH?

O 7t LAPFEA x4+ 3y =A

@D 10 ® 11 3 12 @ 13 B 14

i



QAN {5
x4+ zy=-2
4 3
TH AL
2x+4y=3
@ Y
9x + 8y =-2
2x+40y =3
®
9x+ 8y =-24
2x+40y =3
® y

9x + 8y = —

£ 27| st A€ A= 2

2x+4y =3

@ Y
12x 4+ 6y = -24
2x+4y =3

@ Y
9x+ 8y =-24



12.

o 2 Uy A1 0.2x+4y=10.3
1.6x4 0.7y =
HA 2 A27
2x+8 =13
D Y
16x + 17y = -
3x+ 24y =12
® Y
16x+ 7y = —
Sx+2y=3
® y

16x 4+ 8y = -21

-21

£ 271 S5k A

2x+40y =3
16x + 7y = -
2x+ 14y =6
1.6x+ 17y = -

Ex
T=

TE



0.6x 4+ 0.5y = 2.8

R R R R
3° TV

O x=-2,y=3 @ x=3,y=2

® x=-3, y=-2 @ x=2 y=-3

® x=3, y=-2



14.

1
2 3

=7

@ (0, -3)
@ (-1, 2)

1
—Xx+ -y =

1, 0.5x—-03y =1 °f tjste] ot 5 A™

@ (-1, 0)
® (2, 0)

® (4, -5)



S 2w

1.2x-0.04y =24

3x+ 1.5y = 6

® x=2,y=0

@ x=3,y=-2

D x=4,y=-2



